Place value, ordering and rounding

Measurements given to the nearest integer may be up to a half unit bigger or smaller.

For Example:

The maximum recorded temperature in California is 5O C to the nearest whole degree. The actual temperature could have been anything between 56.5OC and 57. 5OC
1a) The radius of the earth is 6350km to the nearest 10 kilometres. What could the actual radius be? 

1b) The height of Mount Everest is 8848m to the nearest metre. What could the actual height be? 

1c) Matt cycled to his friends house. He left at 7.05 and arrived at 7.23. All times were taken to the nearest whole minute. What is the minimum time he could have cycled in?
Measurements given to the nearest integer may be up to a half unit bigger or smaller.

For Example:

A rod is measured as 17.620m to the nearest millimetre. 
The largest possible length is 17.6205m. 
The shortest possible length is 17.6195m. 
The range of possible lengths is 0.001m.
2a) 
The distance of a buoy from a coastguard station is 24km to the nearest kilometre. 

What is: i) the maximum distance it could be? ii) the minimum distance it could be? 

2b) 
The weight of a 5kg bag of potatoes is weighed to the nearest 50g. What is the range of weights? 

2c) 
On 22nd June 1997, Linford Christie and Georgios Panayrotopoulos both ran a 200 metre race in 20.56 seconds, to the nearest hundreth of a second. What was the greatest possible difference between their times?
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